You may find it expedient to use the VHDL alias command. This is illustrated below.
----Global signals

  signal intres:   std_logic   := 'X';             -- Internal reset

  signal ir:       std_logic_vector(31 downto 0)       := (others => 'X'); -- IR    in IF/ID

  signal pc:       std_logic_vector(31 downto 0)       := (others => 'X'); -- PC    in IF/ID

  signal irx:      std_logic_vector(31 downto 0)       := (others => 'X'); -- IRX   in ID/EX

  signal pcx:      std_logic_vector(31 downto 0)       := (others => 'X'); -- PCX   in ID/EX

  signal bta:      std_logic_vector(31 downto 0)       := (others => 'X'); -- BTA   in ID/EX

  signal a:        std_logic_vector(31 downto 0)       := (others => 'X'); -- A     in ID/EX

  signal b:        std_logic_vector(31 downto 0)       := (others => 'X'); -- B     in ID/EX

  signal irm:      std_logic_vector(31 downto 0)       := (others => 'X'); -- IRM   in EX/MEM

  signal alum:     std_logic_vector(31 downto 0)       := (others => 'X'); -- ALUM  in EX/MEM

  signal smdr:     std_logic_vector(31 downto 0)       := (others => 'X'); -- SMDR  in EX/MEM

  signal irw:      std_logic_vector(31 downto 0)       := (others => 'X'); -- IRW   in MEM/WB

  signal aluw:     std_logic_vector(31 downto 0)       := (others => 'X'); -- ALUW  in MEM/WB

  signal gpr:      regfiletype := (others => (others => 'X')); -- GPR in ID/WB

  signal alpha, beta: std_logic_vector(31 downto 0);

  signal ALU:       std_logic_vector(31 downto 0); -- Output of ALU

  alias opx: std_logic_vector(5 downto 0) is irx(31 downto 26); -- IRX opcode

  alias funcx: std_logic_vector(5 downto 0) is irx(5 downto 0); -- IRX func

  alias ofstx: std_logic_vector(15 downto 0) is irx(15 downto 0); --

  alias RS_addr: std_logic_vector(4 downto 0) is IR(25 downto 21);

  alias RT_addr: std_logic_vector(4 downto 0) is IR(20 downto 16);

  alias RD_addr: std_logic_vector(4 downto 0) is IR(15 downto 11);

